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1) TRADE THEORY

Question No. 1 / Question ID 121 Marks: 2.00

Which sheet metal has better appearance than other metals?
®H I e U1g 3T Urgan Bt A H JgaR fedt 72
(A) O Black iron sheet

P R =T
(B) O Aluminium sheet (Chosen Option)

e (Chosen Option)

(C) O Lead sheet

(D) O Copper sheet (Correct Alternative)
IR e (Correct Alternative)

Question No. 2 / Question ID 285 Marks: 2.00
Which material is used to make the jaws of three jaw chuck?

oft ST a1 T & Sif 991 & o foo Irrh 1 SuanT fham STt 872

:IO ;;tmlbt Global iTi YouTube Channel

T Had Tid (Chosen Option)
(C) O High carbon steel (Correct Alternative)
I Plad K d (Correct Alternative)
(D) O Low carbon steel
HH Hlead LI

Question No. 3 / Question ID 235 Marks: 2.00
Which steel is used for making cold chisels?
HIce od §9 & T8 fd a1 ITANT T STt 82
(A) O High carbon steel (Correct Alternative)
I HIET K Id (Correct Alternative)
(B) O Dead mild steel (Chosen Option)
33 e ©id (Chosen Option)
(C) O Mild steel
gehl Kid
(D) O Medium carbon steel
AT HTa WA

Question No. 4 / Question ID 218 Marks: 2.00
What is the use of "GO" gauge in progressive plug gauge?
TRIRIG @ 1 § "GO" TS BT ITANT T 57
(A) O To check the upper limit of shaft

MU BT FURT T B S B & forw




(B) O To check the lower limit of hole (Correct Alternative) (Chosen Option)

ﬁﬁ 3 it i F S FA S ﬁ'l'll (Correct Alternative) (Chosen Option)

(C) O To check the upper limit of hole
Bl I SURI AT DI Wl A & oy
(D) O To check the basic limit of shaft
QMUC ! T HHT P Slld B o oy

Question No. 5/ Question ID 158
What is the name of the hand tool shown in the figure?

o # feTu 7TU B1Y & IUBRUT BT AT HT 82

(A) O Ball-pein hammer
afe - fH IR

(B) O Straight pein hammer (Chosen Option)
SIBRIE %TR (Chosen Option)

(C) O Chipping hammer (Correct Alternative)

j (Correct Alternative)

(D) O Cross-pein hammer

B - U

Marks: 2.00

Question No. 6 / Question ID 322
Which is used as vibration isolation material?

HUT GYIHR U & U H fhgen! TanT farar S g2
(A) O Eﬂg—:rs

(B) O Rubber (Correct Alternative) (Chosen Option)
XdS (Correct Alternative) (Chosen Option)
(C) O Plastic

(D) O Nylon
BICIE

Marks: 2.00

Question No. 7 / Question ID 152
Which colour is painted on the acetylene gas cylinders?

uifeefia 79 Ricier R &9 91 37 e fovan Sirdn 82

Marks: 2.00




(A) O Blue
=t

(B) O Black
pIcdl
(C) O Maroon (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Green
exl

Question No. 8 / Question ID 299 Marks: 2.00
Which type of oil is used for extreme cutting conditions of modern tools?
3MYAH JUBUN Pt AP FHels o fUfd & o frd UHR & A o1 ITanT forar Siran 82
(A) O Sulphurized oil (Correct Alternative)
aa (Correct Alternative)
(B) O Straight mineral oil (Chosen Option)
e @S da (Chosen Option)
(C) © Soluble mineral oil
LCIEEIGK|
(D) O Lard ol
Tl H1dd

Question No. 9/ Question ID 79 Marks: 2.00
What is the accuracy of a metric outS|de m|crometer’?
Hifew 3RS AIZHHIER BT Yeldhdl T 82

(A) 0.002 (Ch
© Sozmmacatdbal iTi YouTube Channel
(B) © 0.001 mm
0.001 mm
(C) O 0.01 mm (Correct Alternative)
0.01 mm (Correct Alternative)

(D) O 0.02 mm
0.02 mm

Question No. 10 / Question ID 168 Marks: 2.00
Why cylinder keys are not removed from the cylinder while welding?
FRd G Riclex &1 anadl Ricie) § i Tg! fHepTait st 72

(A) O To prevent gas leak

T Rma &1 A & fog
(B) O To close quickly in case of fire (Correct Alternative) (Chosen Option)

3N & ATHA H Sec] § ¢ P & ﬁl‘({ (Correct Alternative) (Chosen Option)
(C) O To open and close frequently

IR-IR Tl 3R g P & fog
(D) O To adjust the gas supply

9 S1yfd &1 TR B & ferg

Question No. 11 / Question ID 32 Marks: 2.00
Which ensures personal safety?
-7 AT JR&T AT T 82
(A) O Concentrating on your work (Correct Alternative) (Chosen Option)
PHTH W A Hiod T (Correct Alternative) (Chosen Option)




(B) O Keeping the machine clean
TR B H1h @

(C) O Keeping the tools at their proper place
el B I Iad RIF TR TG

(D) O Keeping the gang way and floor clean
T 3R R &I A% G-

Question No. 12 / Question ID 26
What is the name of the file shown in the figure?

for T a1 TN WIgd &1 19 31 872

Global iTi Yo

(A) O Mill saw file
BRI
(B) O Crossing file
ShIRIT BIsc
(C) O Barrot file
RIC BRI
(D) O Riffler file (Correct Alternative) (Chosen Option)
WIgd (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 13 / Question ID 310
Which is the advantage of Total Productive Maintenance?
cied Ursfaed B9 &1 & 91 a1y g2
(A) O Supply defective goods to the customers
[ 1 IOl AT BT AT Rl
(B) O Unscheduled maintenance

YR TaEE

Marks: 2.00




(C) O Reduces maintenance cost (Correct Alternative)
JEIWTG AT HH B Sl % (Correct Alternative)

(D) O Produces goods without increasing product quality (Chosen Option)
3G P! UG B! [T T g 3fl &1 ST Bl & (Chosen Option)

Question No. 14 / Question ID 62 Marks: 2.00
Which part of the universal surface gauge holds the scriber?
HaTd TRBY T B B I BT THRER B UHSdl 82
(A) O Snug (Correct Alternative) (Chosen Option)

H1T (Correct Alternative) (Chosen Option)
(B) O Fine adjustment screw

(13 TSueHT &
(C) O Rocker arm

AR ATH
(D) O Guide pin

DIECAED]

Question No. 15/ Question ID 36 Marks: 2.00
What is the name of the part marked as 'X' shown in the figure?

Tpfa H feamy U X' ¥ fafgd YT &1 A1 1 82

Global iTi YouTube Channel




(A) O Leg
T

(B) O Peg
7T

(C) O Washer

Global iTi You

(D) O Fulcrum (Correct Alternative) (Chosen Option)
WwddH (Correct Alternative) (Chosen Option)




Question No. 16 / Question ID 142 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o A femme e e O Rafgd 4Rt &1 9H R 8

(A) O Rivet set
fde de

(B) O Dolly
Sl
(C) O Caulking tool (Correct Alternative) (Chosen Option)
1l ¢ d (Correct Alternative) (Chosen Option)
(D) O Fullering tool

LSRN

Question No. 17 / Question ID 253 Marks: 2.00
Which part of the vernier micrometer is marked with vernier scale graduation?

IR AgehHIeR BT B J1 YT af-FR Wt IUH I Fafgd gar 82

(A) O Frame
B

(B) O Thimble (Chosen Option)
I9d (Chosen Option)
C) O Anvi

(D) O Barrel (Correct Alternative)
(Correct Alternative)

Question No. 18 / Question ID 50 Marks: 2.00
Which metal property can resist the effect of tensile forces without any rupture?
B T 41 T[0T 91 fobft ge-Te & a=aaT Sl & UHTd BT TRy R Jobal 272
(A) O Malleability




(B) O Tenacity (Correct Alternative)
(Correct Alternative)

(C) O Elasticity

(D) O Ductility (Chosen Option)
(Chosen Option)

Question No. 19 / Question ID 234 Marks: 2.00
Which is the purest form of an iron?
dle 1 I G U B °1 82
(A) O Grey castiron
P
(B) O Pigiron
O 3R
(C) ©O Wrought iron (Correct Alternative)
fUeat @t (Correct Alternative)
(D) O Castiron (Chosen Option)
Sl dlgl (Chosen Option)

Question No. 20 / Question ID 90 Marks: 2.00
What is the reading of the outside micrometer 50mm to 75mm shown in the figure?

o A fewme e a8 A wiHieR 50 it @ 75 et ot g w82

Global iTi-Yo

(A) O 63.00 mm (Chosen Option)
63.00 mm (Chosen Option)




(B) O 63.36 mm
63.36 mm

(C) O 63.63 mm (Correct Alternative)
63.63 mm (Correct Alternative)

(D) O 63.13 mm
63.13 mm

Question No. 21 / Question ID 284
Which type of operation is carried out shown in the figure?

forer  faamu TTq forg UepR 1 SR by oirar 87

Global iTi Yc

(A) O Straight groove (Chosen Option)
teft 1d (Chosen Option)

(B) O Round groove
Td g9

(C) O Square groove

pCl

(D) O Vee groove (Correct Alternative)

at 9d (Correct Alternative)

Marks: 2.00

Question No. 22 / Question ID 129
Which metal is used to make radius gauge?
ST IS 991 & for fory 4Tq 1 ST favarm ST 872
(A) O Aluminium sheet
RIS

(B) O Hardened sheet metal (Correct Alternative) (Chosen Option)

FSR e Acd (Correct Alternative) (Chosen Option)
(C) O Mild steel sheet
Higes ¥id e

Marks: 2.00




(D) O Copper sheet
PIR i

Question No. 23 / Question ID 113 Marks: 2.00
What is the name of the warning sign shown in the figure?

o 7 fe@me U Adran fig &1 W | g

(A) O Risk of ionizing radiation
3P fafhur BT WarT
(B) O Risk of electric shock

faSTelt & b BT WeR|
(C) O Risk of explosion
CAREGR
(D) O Risk of fire (Correct Alternative) (Chosen Option)
3(RT T BT WaRl (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 244 Marks: 2.00
Which alloy is used for coating on steel sheets of food containers?
W el 1 Wi e R ST & fog f5g firy arg &1 I fara S g2
(A) O Copper
GIC
(B) O Bronze (Chosen Option)
dad (Chosen Option)
(C) O Lead
oS

(D) O Tin (Correct Alternative)
feq (Correct Alternative)

Question No. 25 / Question ID 213 Marks: 2.00

Which bond is used in the grinding wheel of grinding mill rolls?
TRFET i W9 & UefEn &ra | 59 a1 U fasa oirdn 82
(A) O Resinoid bond

; EIS]
(B) O Silicate bond (Chosen Option)

GRS (Chosen Option)

(C) O Vitrified bond

fafcwss afs




(D) O Shellac bond (Correct Alternative)
dI-S (Correct Alternative)

Question No. 26 / Question ID 288 Marks: 2.00
What is the shape of the knuckle thread?
T IS BT MBI FT 82
(A) O Saw tooth
a1 gy
(B) O Square (Chosen Option)
i (Chosen Option)
(C) O Trapezoid
(D) O Round (Correct Alternative)
ma (Correct Alternative)

Question No. 27 / Question ID 101 Marks: 2.00
Which stake is used to form an arc of a circle bevelled along one side?
TH U8 & 1Y TH G & a1 Bl S & (18 [l Wb BT ITTNT T STl 82
(A) O Half moon stake (Correct Alternative) (Chosen Option)
el {4 TP (Correct Alternative) (Chosen Option)
(B) O Hatchet stake
ghe ¥&
(C) O Beakiron
i o1 foeh SR

"°emes . Global iTi YouTube Channel

Question No. 28 / Question ID 72 Marks: 2.00
Which mechanical property of metal extends in all directions without rupturing during hammering?
YT BT DI T TS T[0T 8N ARA & SR forT g Joft femmait & o 82
(A) O Elasiticity

UATRIdT
(B) O Fusibility (Chosen Option)
(Chosen Option)
(C) O Ductility
d=ddr
(D) O Malleability (Correct Alternative)
Srardad=iadn (Correct Alternative)

Question No. 29 / Question ID 282 Marks: 2.00
What is the name of the part marked as ‘X’'shown in the figure?

o & famme e X @ ffgd WM &1 9m R 82




Global iTi Yo

(A) O Cross slide
EINESIES]

(B) O Saddle lock
dsd dld

(C) O Top slide (Correct Alternative) (Chosen Option)
e TS (Correct Alternative) (Chosen Option)

(D) O Tool post
TAURE

Question No. 30 / Question ID 116
What is the name of the gauge shown in the figure?

oy 7 fRaTy 7 A1 BT AT T B2

Marks: 2.00




(A) O Standard wire gauge (Correct Alternative) (Chosen Option)
M dR A% (Correct Alternative) (Chosen Option)

(B) O Feeler gauge
BIeR Tl

(C) O Screw pitch gauge

wp U= 9
(D) O Radius gauge
IE2IRI|

Question No. 31 / Question ID 186 Marks: 2.00
Which angle is determined by the helix angle in the drill bit?
f$a foe o Rfcre Tat g1 &1 I @ FetRa fasan Sirar 872
(A) O Rake angle (Correct Alternative)

IP WA (Correct Alternative)
(B) O Chisel angle
EISSAYIK|
) O Pgint angle
RECASIG]
(D) O Clearance angle (Chosen Option)
g WA (Chosen Option)

Question No. 32 / Question ID 10 Marks: 2.00
Which chisel is used for cutting oil grooves?

3T b & dle & ol fhd S+t BT SUdIT far Sirar g2




(A) O Diamond point chisel (Chosen Option)
SIS Tlse ¥+I (Chosen Option)

(B) O Flat chisel
LSRR

(C) O Half round nose chisel (Correct Alternative)
BTW ST IS BT (Correct Alternative)

(D) O Web chisel
CEELI]

Question No. 33 / Question ID 22 Marks: 2.00
Which marking media is poisonous?
I T HIThT ST STedial 32
(A) O Cellulose lacquer
BRI ASER
(B) O White wash
CIEEGIR
(C) O Copper sulphate (Correct Alternative) (Chosen Option)
PR Tebe (Correct Alternative) (Chosen Option)

(D) O Prussian blue
TR &

Question No. 34 / Question ID 87 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

o 7 femmu u ) 3 fRIfgd HrT &1 AW R/ g

Global iTi YouTube Channel




Global iTi Yo

(A) O Spindle lock
EIGANIE

(B) O Sleeve
witg

(C) O Spindle
I

(D) O Thimble (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)

Question No. 35/ Question ID 181

Which process refers to the finishing of drilled hole?

HH Al ufehar fga it U et &t MR o daftia St 82

(A) O Spot facing
hcts .

(B) O Reaming (Correct Alternative) (Chosen Option)
JAfeT (Correct Alternative) (Chosen Option)

(C) O Counter sinking
CARILAR

Marks: 2.00




(D) O Counter boring
BHIIR TIAT

Question No. 36 / Question ID 201 Marks: 2.00
What is the name of the die shown in the figure ?

fort | ATy 10 ST &7 11 &1 872

(A) O Adjustable screw platadie

TSoRead ¥ WE o
(B) O Half die
EACI
(C) O Circular split die (Correct Alternative) (Chosen Option)
MaeR [ee 31'5‘ (Correct Alternative) (Chosen Option)
(D) O Die nut

CIEG

Question No. 37 / Question ID 262 Marks: 2.00
Which mechanism is used in the lever type dial test indicator?
TR TIRY Sd <X $fedhex H fory d &1 ITANT foban ST 872
(A) O Pawl and ratchet

giad
(B) O Worm and worm wheel (Chosen Option)
I 3R Tﬂ'f[%ﬁﬂ (Chosen Option)
(C) O Rack and pinion
3R fafA
(D) O Lever and scroll (Correct Alternative)
AR 3R wpid (Correct Alternative)

Question No. 38 / Question ID 135 Marks: 2.00
Which type of material is used to make solder?

Tieex S P U f5g YR ot Irlt &1 IuanT foran S 872

(A) O Non metallic element

R Urd dd




(B) O Welding rod
RIS
(C) O Pure metal or alloy (Correct Alternative) (Chosen Option)
R[& UTg AT fory UTq (Correct Alternative) (Chosen Option)
(D) O Synthetic element
‘ dd

2) WORKSHOP CALCULATION SCIENCE

Question No. 1 / Question ID 341 Marks: 2.00
What is the flow of electrons in any conductor?
forft Fredex W S BT UaTe F1 gidl 872
(A) O Power
RIES

(B) O Current (Correct Alternative) (Chosen Option)
YRT (Correct Alternative) (Chosen Option)

(C) O Resistance
Y

(D) O Voltage
CIRE|

Question No. 2 / Question ID 336 Marks: 2.00
How many watts for 1 horse power in British system?
fafewr Rren d, 1 g1 uraRk & fobam areq 81 82
(A) O 756 watts

mo wwe  Global iTi YouTube Channel

736 watts
(C) O 746 watts (Correct Alternative) (Chosen Option)
746 watts (Correct Alternative) (Chosen Option)

(D) O 726 watts
726 watts

Question No. 3 / Question ID 344 Marks: 2.00
What is the ratio of mechanical advantage to the velocity ratio of a simple machine?
TP YR A=A & 97T SFUTd & TS T BT 39T T 82
(A) O Efficiency (Correct Alternative) (Chosen Option)
'l (Correct Alternative) (Chosen Option)
(B) O Load
IS

(C) O Power
PICE
(D) O Effort

Question No. 4 / Question ID 335 Marks: 2.00
What is the ratio of power output to power input?
fE 3HT3eYe 3R G 39Ye BT SUTd 18Il 872
(A) O Energy
it




(B) O Efficiency (Correct Alternative) (Chosen Option)
Q&[T (Correct Alternative) (Chosen Option)

(C) O Acceleration
[CRY}

(D) O Work

Question No. 5/ Question ID 340 Marks: 2.00
Which is the unit of current?
YR P THIS T 272
(A) O Volt

(B) O Ampere (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Ohm
3

(D) O Watt
are

Question No. 6 / Question ID 343 Marks: 2.00
What is the area of a rectangle, whose length and breadth are 10cm and 8cm respectively?

TS 3ATTd &1 SAB 1 81T, fTPp! ovals Ud els HA: 10 T.H. ud 8 4.#1. g2

(A) O 75¢cm
Global iTi YouTube Channel

75 cm
(B) O 85cm
85 cm
(C) O 90cm
90 cm?

(D) O 80 cm? (Correct Alternative) (Chosen Option)
80 cm? (Correct Alternative) (Chosen Option)

N N N NN

3) ENGINEERING DRAWING

Question No. 1 / Question ID 353 Marks: 2.00
Identify the conventional symbol of material?

At & URURS Udllep Bl Ug=?




(A) O Lead
oS
(B) O Steel (Correct Alternative) (Chosen Option)
HId (Correct Altfraajiye) f2hesch Opti@in)
(C) O Glass
CaE)

(D) O Porcelain

Question No. 2 / Question ID 362
|dentify the name of tool?

JUBUT BT T UgaTH?

Marks: 2.00




(A) O Staright pein hammer
e U R
(B) O Ball pein hammer
S 4 g7 R
(C) O Cross pein hammer
1Y UiH IR
(D) O Mallet (Correct Alternative) (Chosen Option)
m Gl E»'%ﬁ%_T (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 348
Identify the conventional symbol of material?

oz 7 fewme v grht &% uRufes Udie 1 udl ama?

Marks: 2.00




(A) O Glass
CIE]

(B) O Lead
NS
(C) O Wood (Correct Alternative) (Chosen Option)
51 (Correct Alternative) (Chosen Option)
(D) O Paper
CAUN|

Question No. 4 / Question ID 360
Identify the name of tool?
JUDHU BT A TgarH?

Marks: 2.00




(A) O Ball pein hammer (Correct Alternative) (Chosen Option)
CIGR iG] %‘FIT (Correct Alternative) (Chosen Option)
(B) O Sledge hammer
WS gHR
(C) O Cross pein hammer
1Y 0 TR
(D) O Straight pein hammzr,
e g greT

Question No. 5/ Question ID 355
Identify the conventional symbol of material?

I & URURS Udldh Bl Uga™?

Marks: 2.00




A) O Glass
CaE)
(B) O Concrete (Correct Alternative) (Chosen Option)
3 (Correct Altergrasivie) (Chosen ®ptiory
(C) O Steel
UId

(D) O Wood
GEZS]

Question No. 6 / Question ID 368 Marks: 2.00
Which arrow head is correct as per standard?

A& & TR S A1 dR e Tat 82

O-




(€) O
(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 478
Which one is NOT an element of 3P’s of public speaking?
9 & 3 D ufsdts AT & 3 P H1dd T8l 82
(A) O Prepare
Prepare
(B) O Posses (Correct Alternative) (Chosen Option)
Posses (Correct Alternative) (Chosen Option)
(C) O Perform
Perform

(D) O Practice
Practice

Marks: 2.00

Question No. 2 / Question ID 457
Gesture “biting nails” shows

"G pICA dlefl g1d-HId.........c..eee axifa % -
(A) O boredom
IReH

(B) O insecurity (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O defensiveness

(D) O confidence
CIR

Marks: 2.00

Question No. 3 / Question ID 423
can help me learn English.

T Sl Wrae & Hag dH Iaodl |

Marks: 2.00




(A) O fear
SX
(B) O anger
DIy
(C) O dedication (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O shyness
T

Question No. 4 / Question ID 374 Marks: 2.00
Jobs that have become outdated in the past 5 years

......... iRl o fUse 5 auf & QR 8178 )

(A) O ola
3
(B) © STD booth (Correct Alternative) (Chosen Option)
STD §Y (Correct Alternative) (Chosen Option)
(C) O swiggy
Swiggy

(D) O uber
SEN

Question No. 5/ Question ID 427 Marks: 2.00
When someone says 'Thank you' we should reply and say .
ELRICIHY

S P15 'Thank you (Y=IdTG) B8l ¢ ol gH oldld ol afgU 3R

" Global iTi YouTube Channel

(B) O How are you?
310 Hd &2

(C) O You're welcome. (Correct Alternative) (Chosen Option)
STUDT HRTd % (Correct Alternative) (Chosen Option)

(D) O Bye-bye

Question No. 6 / Question ID 392 Marks: 2.00
Choose the correct tense of the verb. “I music when | was child”
fobar &1 gl 1 I | “| music when | was child”

(A) O had learnt (Correct Alternative)
had learnt (Correct Alternative)

(B) O will learn
will learn

(C) O learn (Chosen Option)
learn (Chosen Option)

(D) O am learning
am learning

Question No. 7 / Question ID 525 Marks: 2.00
What is shortcut key for “Paste” command?
"URe" HHTS & AU Qiéame B (o) 182
(A) O Ctrl +V (Correct Alternative) (Chosen Option)
Ctrl + V (Correct Alternative) (Chosen Option)




(B) O Ctrl+C
Ctrl + C
(C)O Ctrl+X
Ctrl + X
(D) O Ctrl+A
Ctrl + A

Question No. 8 / Question ID 377 Marks: 2.00
is a brief statement about purpose and principles of the Constitution.
..... .. e & 3Ie=a 3R Rigidl & IR & Wi faaror 31
(A) O Syllabus (Chosen Option)
UlddehH (Chosen Option)
(B) ©O Module
AU
(C) O The Preamble (Correct Alternative)
YXATA-T (Correct Alternative)
(D) O Unit

ECaH

Question No. 9 / Question ID 380 Marks: 2.00
is major changes takes place in manufacturing.

........... L ErghaatoT A v URad o 2

(A) O Water revolution
ot Shifd

B) O g‘%‘ﬁ%\(’ggl@%"ecbter tl\(@ﬁd:loyOptlon Tu be C h a n n el

(C) O Green revolution
g wifd

(D) O Food revolution
GTe shifd

Question No. 10 / Question ID 532 Marks: 2.00
Which one is a cyber crime?
P U TTZER HRTY §?
(A) O Online purchasing
3ffare T (@)
(B) O Sending email
oA W
(C) O Chatting with friends
ot & AfeT (=)
(D) O Online gambling (Correct Alternative) (Chosen Option)
GJVHFIET-I Trafer (SI31T) (Correct Alternative) (Chosen Option)

Question No. 11 / Question ID 475 Marks: 2.00
Which one is NOT a benefit of oral communication?
MRS TR (3R HRIFBTA) HT S IT AT Tal 872
(A) O Feedback is immediate
Feedback is immediate

(B) O Itis direct (Chosen Option)
It is direct (Chosen Option)




(C) O Iltis forrecord (Correct Alternative)
It is for record (Correct Alternative)
(D) O Itis quick
It is quick

Question No. 12 / Question ID 435 Marks: 2.00

are the qualities that are considered negative, and need to be worked on.

T 70T € T8 TH RIS AT ST 8 3R SF IR &0 &3 &1 aRgehdl g
(A) O Personal Strengths

dlehd
(B) O Threats (Chosen Option)
YHD (Chosen Option)
(C) O Personal weaknesses (Correct Alternative)
T (Correct Alternative)

(D) O Opportunities
Hid

Question No. 13 / Question ID 421 Marks: 2.00
Which one of the following is a good office etiquette?
fafaRed § 9 ®F 91 Ue 31 Hriad RITAR 872
(A) O One should litter one’s work place
i B 30 HTH & VM R Hel STl d1gT

(B) O One should have fancy mobile ring tone

Ueh o U Ul Hirs el R i BT =1fed

(C)O g%e%hould dresmaérg)g:tﬁ I:$(l(\«YChosen.Tatlonb&erﬁla‘a nn el

(D) O One should not be punctual to work

HTH & T JHY &1 UTeic T8l g1 91U

Question No. 14 / Question ID 550 Marks: 2.00
contains one or more worksheets.

T T T AHYP HAUFAS gid 5 |
(A) O Workfile

(B) O Document (Chosen Option)
|c (Chosen Option)
(C) O Address bar
EGICE
(D) O Workbook (Correct Alternative)
(Correct Alternative)

Question No. 15/ Question ID 572 Marks: 2.00
Problng questions helpsyou
S R dTal Uy 30! Hee $d 3.
(A) O Building trust so you can receive honest feedback.
Ty &1 fAmior X difds 3ma SAMGR wfferar U 3R 9 |
(B) O To identify customer's specific needs (Correct Alternative) (Chosen Option)
Aleh CARGIR STaRYHATSA Bt Ygdld PP ﬁ'q (Correct Alternative) (Chosen Option)

(C) O To learn customer's pain point

e b < foig S o forg




(D) O To introduce yourself well to the customer.

UEh B U1 U 3= | 7

Question No. 16 / Question ID 515 Marks: 2.00
In which orientation, the text is printed width wise?
forg 3Rt (ififa=ame) ), Toe (Ure) TISTE arR fiie (qfea) grar g2
(A) O Landscape (Correct Alternative)
' (Correct Alternative)
(B) O Portrait (Chosen Option)
cC (Chosen Option)
(C) O Width

(D) O Ma'rgin
AT

Question No. 17 / Question ID 586 Marks: 2.00
NAPS Stands for
NAPS &l Hdcld
(A) O Non Apprenticeship Promotion Scheme
Non Apprenticeship Promotion Scheme
(B) O National Appointment Promoting Scheme (Chosen Option)
National Appointment Promoting Scheme (Chosen Option)
(C) O National Apprenticeship Promotion Scheme (Correct Alternative)
National Apprenticeship Promotion Scheme (Correct Alternative)
(D) O National Advertisin

otion Scheme -
National AdvertisinmaeFel T| Yo u T u be C h anne I

Question No. 18 / Question ID 489 Marks: 2.00

Gender stereotypes can be
foT wfeafear gl awai g ... |
(A) O playful

EEN]
(B) O cheerful

KCRl
(C) O harmful and hurtful (Correct Alternative) (Chosen Option)

3R gtq'a'rd’t (Correct Alternative) (Chosen Option)

(D) O personality development
Hfkicd fabrd

Question No. 19 / Question ID 557 Marks: 2.00

Money invested in purchasing of raw materials, payment of wages and salaries, rental, electricity etc
comes under

Fd AT P /RIG, Holge! 3R da, fam, faorett enfe & yiram & fawr fsan mman O s ]
(A) O capital income (Chosen Option)

] 31 (Chosen Option)
(B) O long term capital

(C) O fixed capital
3{<re Gl




(D) O working capital (Correct Alternative)
(Correct Alternative)

Question No. 20 / Question ID 523 Marks: 2.00
What is a shortcut key for “cut” command?
"He" HHIS & foTT T Yedhe B (Foll) T 82
(A) O Ctrl+V
Ctrl +V
(B) O Ctrl + X (Correct Alternative) (Chosen Option)
Ctrl + X (Correct Alternative) (Chosen Option)
(C)O Ctrl+A
Ctrl + A
(D)O Ctrl+C
Ctrl + C

Question No. 21 / Question ID 407 Marks: 2.00
Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a/ as”.

Ueal & FHLIfad e o A1 ared # fth T TafRd B | “teacher / school / worked / she / a / as”

(A) O Worked she as a school teacher
Worked she as a school teacher

(B) O She teacher worked as a school
She teacher worked as a school

(C) O She worked as a school teacher (Correct Alternative) (Chosen Option)
She worked as a school teacher (Correct Alternative) (Chosen Option)

(D) O School worked as a she teacher
School worked as 3¢

Question No. 22 / Question ID 455 Marks: 2.00

Expansions of SMS is
SMs &1 R g

(A) O Simple Message Service
Simple Message Service
(B) O Short Message Service (Correct Alternative) (Chosen Option)
Short Message Service (Correct Alternative) (Chosen Option)
(C) O Simple Memo Service
Simple Memo Service
(D) O Short Mail Service
Short Mail Service

Question No. 23 / Question ID 539 Marks: 2.00
Which one is NOT a storage device?
P Th TR fSargd g1 g7
(A) O USB flash drive
I SR
(B) O Video tape
difsar ey
(C) O Printer (Correct Alternative) (Chosen Option)
filez (Correct Alternative) (Chosen Option)
(D) O Memory card
RN




Question No. 24 / Question ID 566 Marks: 2.00
person is someone who works for a person/organization and gets paid for that work.

A
T e 98 & Sl [l SAfFaATE & oy HTH ol § SR 39 HIH & [l Y HRdl §
(A) O Self Employed

At

(B) O Wage employed (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Entrepreneur
I

(D) O None of the above

T A SIS 7l

Question No. 25 / Question ID 497 Marks: 2.00
PIN is
PING ....|
(A) O Professional Identification Number
Professional Identification Number
(B) O Personal Identification Number (Correct Alternative) (Chosen Option)
Personal Identification Number (Correct Alternative) (Chosen Option)
(C) O Professional Income Number
Professional Income Number

(D) O Personal Income Number
Personal Income Number
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